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QUESTION 1

A BIG-IP Administrator has configured a BIG-IP cluster with remote user authentication against dcOl f5trn.com. Only
local users can successfully log into the system. Configsync is also failing.

Which two tools should the 8IG-IP Administrator use to further investigate these issues? (Choose two)
A. ntpq

B. pam_timestamp_check

C. passwd

D. pwck

E. dig

Correct Answer: AC

QUESTION 2

A BIG-IP Administrator is working with a BIG-IP device and discovers that one of the Interfaces on a Trunk is DOWN.
What is the reason for this Interface status?

A. The switch is NOT connected to the Interface

B. There is NO transceiver installed on the Interface

C. There is NO default route configured for this trunk

D. The media speed of the interface has NOT been set

Correct Answer: A

QUESTION 3

Refer to the exhibit.
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R el itlar, v il

During a planned upgrade lo a BIG-IP HA pair running Active/Standby, an outage to application traffic is reported shortly
after the Active unit is forced to Standby Reverting the flower resolves the outage. What should the BIG-IP Administrator
modify to avoid an outage during the next for over event?

A. The Tag voice on the Standby device

B. The interface on the Active device to 1.1

C. The Tag value on the Active device

D. The Interface on the Standby device to 1.1

Correct Answer: A

QUESTION 4

A pool of four servers has been partially upgraded for two new servers with more memory and CPU capacity. The BIG-
IP Administrator must change the load balance method to consider more connections for the two new servers. Which
load balancing method considers pool member CPU and memory load?

A. Round Robin

B. Dynamic Ratio

C. Ratio

D. Least Connection
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Correct Answer: C

QUESTION 5

Interface 1.2 on a BIG-IP VE has a status of UNINITIALIZED. What is the reason for this status?
A. Interface 1.2 has been added to a trunk.

B. Interface 1.2 has NOT been assigned to a VLAN.

C. Interface 1.2 has been disabled.

D. No default route has been created.

Correct Answer: B

trunk is a portchannel, you need to add a physical interface.
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